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In the previous Daf the X713 said;
TSI NI A7 Y01 - , L NI XA RIT TN2 P)
If the majority of the 9977 was planted with trees it is like a
93, and it is 9 to carry there because it remains a usable
area.

Our Shiur began with a XX NP> -

MIRDIVIR PIVYY R MIR WOR AT 27 IR -

Itis a usable area only if the trees are arranged in rows.
MIRDIVIR PIVY PRY O"PR TR 11513 27 -

It's considered usable even if the trees are not in rows, but 1N 11amy 3 1 *?:;*:s e
randomly arranged. "

In practice n 92 Xn 27 ruled like jm3 27 that the 9o7p is Y PRY 2'IN PIVIW NI
permitted even if the trees are randomly arranged. D1N5303N N]NBJUEN

AT 92 N7 29

The Gemara continues;
SN TN J1aM3 30 AN
AT 9PN KOW DNRD 1120 NP 997 DRIDW MOR 0327 IN - Ao BPY KO DINKD A3 TNY A9Tp
. . . . 113m1 39
The 1050 is - as oMy 21 himself teaches a bit further down this
. Amud - thata , ﬁ:}'ﬁ
D'N27°INRW 127 - a lot behind the house is considered a D3N ININY

999p.

Ifitis bigger than a nxo m 2 it would depend on the
following: Is considered a
971 9029 nno - If he first opened a door from the house to qgjp
the 997p, and then fenced in the 799p, he may carry there
because 7775 971 - it was enclosed for residential use.

nno Moan qpin - If it was first fenced it, and he then opened a
door from the house to the 799p, he may not carry in the 99
more than mn»R 7 because

7775 92 RS - it was NOT enclosed for residential use.

VI R TR -

What can he do to make the 999p permissible?

MDY IWY SV ITRYHI IITIN WY ANV AZPO I YN0 -

He makes an opening in the wall larger than ten minR - a 1379
- abreach which invalidates the wall. He then rebuilds it to an
opening of maximum ten MnR - a nNno - a doorway. This
would now be considered

971 025 o - anew wall which was made AFTER the
door of the house.

However, the Gemara asks the following Shaila;

o
e
e

ANYY MYSWIW TY TN AR PIOT MR TN ANR 7I9 170 RVIR o/
. N TV - /3/9# —/

What if instead of making a breach of more than ten mnx at 2

one time, he broke down one 7>X at a time, and rebuilt each AN 799 917D NN

1R before breaking down the next nnr? ATTA AN P9 AN TR
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The X2 answers this question by comparing it to two other
mo5n that require a specific v, but can be done piece by 7L pnd

piece: First, a2 1w oona HyaHo 5 -

. . > 22 opa o5 5 mpoaIY STD
A utensil only loses its kv status if it develops a hole the DS PP FIDTY PN AN
size of a pomegranate. _
If smaller holes were made and filled before others — “\
developed, and now the holes totaled the size of a pomegran- ® %‘.’
ate, we say; JR2Y IX2 MWTN 019 - it is considered a new *93 and =
loses its IRm status. | 1 strap broke

& was re%?alrcd ...
the other strap broke

Second, Mp M PRIRD NAR 7POOIW HTIO -
A sandal that had one strap break in a way that it is still
usable, and was repaired before the other strap broke, it loses

its INDIV status because - It's considered a new "3
IROY N2 MWTN 019 - it is considered a brand new *5> with two -
new straps. '
When j3n» " made the comparison between the case of the
95 and the case of the sandal, ;i marveled and said; 0
' ! 2 (7 /)
WPR 727 5 - this is a superhuman person! - OR J / / (O

w3192 17 0 - this person is the epitome of a human being!
Similarly, in our case, we consider the series of smaller
breaches in the wall to add up to a ten nx breach, and the "5 AP DANND N3 TN ASP

wall is considered newly built.
Ps o' NomAI)

D1 RO TS GInw DNRO I NP 497 -
A large 9997 which was fenced in for residential purposes,
and was then flooded with water -

there is a NP> whether we view the water like plants,
which would make the 999p unusable, hence forbidden to
carry in, or we view the water like trees, where the 997p
remains usable, and it would be 1mn to carry there.

Even if we view it like trees, that is only if the water is usable
for drinking, and accordlpg t0 WR 1Y whose opinion is Which would Which would
rejected by the X3 - only if the part that is ten o'nov deep make the 997p make the A97p
does not cover an area of D’NRO N2

usable for drinking
WR 29

. is 10 o'nov deep

does not cover an
area of DPNND 13
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RI73 D19 RINT NN R -

There was this back lot in X373 019 - a 77975 977 XYW q997p that
had one side opened into a 1an and another side opened to a
o»I2 5w >aw - path through a vineyard.

The »an had a nnon N3 at the other end which opened to the
0297 MW

The o712 5w 2w also lead to the bank of a river which itself
counts as a 1¥’n» since it is ten 150 high.

Once they started using the back lot for residential reasons,
and it was too difficult to remake part of the wall since it was
made of stone, »ar explored other options to render it 9m» to
carry there:

-1- Making a wall along the river bank which might be
considered an additional enclosure for the 71217 would not
help because

X7 022 HY XD PO PR -

The river bank is itself a n3°m» - and building a nx’m» on top
of another nx°m» does not add anything.

-2- Making a nnon nx between the nan7 and the Sv 2w
o177 - and we would say that since the nnon nx permits the
path, it would be considered an added wall for the nan- -
would not be feasable because camels that go to drink from
the river would probably knock it down.

-3- Therefore, »ar suggested making a 0> at the entrance
from the lot to the path of the vineyard, because X377 »'n
7am> 013 DI YW W - since the 'n5 works to permit
carrying in the path it should also work for the lot to be
considered as adding to the enclosure.

R17 rejected this solution because it may lead people to
believe that a 'n> works for a normal path to a vineyard, even
when there is no riverbank serving as a wall on the other end.

-4- X271 suggests making a 'n> between the nan7 and the »an -
1A% 133 ROPS 1> 75 30m7 T - since the 'n5 permits
carrying in the »1an it also permits for the back lot.

This will make it 90 to carry within the »12> and 3mn to
carry within the nan,

However, regarding carrying from the »121 to the 7am, or vise
versa, there is a W 7 TOR 70 DRIMOR DRI -

One says we may carry from one to the other, because there
are no residents in the 72m.

One says we may NOT carry, because we are concerned that
people will come to live in the 12n7, and mistakenly continue
to carry, even though the presence of people living there
makes it WOR to carry between the nana and the »12» without
YR NPY.

N9 7aR9 XA
N971 D93

>
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nYTN PYIY PN B
=39m 233 5y
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Camels would
knock it down

!

People will think ‘
s> will work even

when there is no
riverbank

!
The m5 permits
carrying
in the »an
and in the nam

2%
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regarding carrying
from the »an to the nam

TN TN

wn
RPTTY

Mishkan
Yecheskel

i

Dedicated By: DafHachaim.org

Eruvin2-3



